Afternoon Shift

According to Biomedical Waste
Management Rules, wastes generated
from disposable items such as tubing,
bottles, intravenous tubes are collected
in one of the following bag :

(1) vyellow (2) red

(3) white (4) blue
Sa-fafrer F=a ydwd FEEr &
e, seq-fory qfert g ST w=
o &9

¥ ¥ gt § 997 STar g 2
(1) et (2) ==
(3) &%z (4) e

How much of the general health waste
is generated in total biomedical waste ?
(1) 15% (2) 1%

(3) 3% (4) 80%

a0 Sa-FEfEFEr smfidre § "t
e Juiry fhaar Ioaer grar g ?
(1) 15% (2) 1%

(3) 3% (4) 80%

The function of the vertebral column is
protection of

(1) spinal cord

(2) thoracic organs

(3) abdominal organs

(4) brain

FAEF-a FT FT (FAHl TAT T FT
g2

(1) #&esy (2) =efir s

(3) s=h= s (4) =feaes=w

The lacrimal glands of eyes secrete

(1) saliva (2) tears

(3) mucus (4) cells

Atat & srutaat e | wdr g ?
(1) = 2) st

(3) eoreHT (4) =rfrwTeT

The energy produced in the body may
be measured and expressed in units of
heat i.e.

(3) Kilocalories (4) Fahrenheit
afiT H IO FSAT A eAT & T
THE H 9T AT =k AT S g 2
(1) = (2) afeaas

(3) mrerrFeT (4) wrAETEE

From poorly managed infectious wastes
and sharp instruments, one of the
following infections may be transmitted.

(1) cancer (2) Hiv

(3) Malaria (4) Dengue
GYE VETad HHHE  AqIASr ST ATEw
uweon 7 e § ¥ U "@wmw 5=9ha
CUERIICE

(1) = (2) weremEAT

(3) werfam (4) =T

If there is sprain in a limb of a person,

then one of the following measures

should be done :

(1) rest and support the injured in the
most comfortable position

(2) make the injured lying

(3) make the injured sleep on
abdomen

(4) make the injured stand
gfz T ke % o # 7= g, ar B
¥y uFh U Fhar ST =R -
(1) @== smomars Ruafa § ama &
AH 3T HAEWRT AT

(2) =T & forer <= T
(3) WA R IIT H AT
(4) =TI H @ST @l
The rate of chest compressions to
breath in children during CPR is
(1) 15 compressions and 2 breathing
(2) 15 compressions and 1 breathing
(3) 30 compressions and 2 breathing
(4) 30 compressions and 1 breathing
Fgi # #"Hr.fi.smw. (CPR) & I
grar gfe it 99 § X B
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10.

11.

12.

(1) 15 @ T 2 =9+
(2) 15&fieT T 1 9gu+
(3) 30&dfiew 3w 2 9gu+
(4) 30@dfiew T 1 9gu+

A superficial wound with peeling of skin
is known as

(1) cut (2) torn

(3) puncture (4) abrasion

@ET F FAd % AT UF qder g &l
TH ®T § TMET ATET 8

(1) == (2) weaT
(3) =T (4) =d=
To protect water from  being

contaminated, Parliament enacted the
first Water (Prevention and Control of
Pollution) Act in the year of

(1) 1974 (2) 1984

(3) 1994 (4) 2004

R I o T T 1 T e o ¥

T OUEA T (T RIS
o) wafafew &t B 3T #
afafafag frar 2

(1) 1974 (2) 1984

(3) 1994 (4) 2004

Optimum period of storage of river
water is considered to be of

(1) 5-7days (2) 10-14 days
(3) 15-20days (4) 21-30days
TE F AT H OHUFT A AFAdH
FATT F AT SACT ©

(1) s5-7f= (2) 10-14 f==
(3) 15-20fe= (4) 21-30f==
The components of a typical water
purification system on large scale
comprises of one of the following
measures :

(1) storage, filtration and disinfection
(2) chemical, physical and mechanical
(3) surveillance

(4) Survey
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13.

14.

15.

g2 T w uw @A S aEeeer
JUITAT F el W W § 4 U 3IUT
artee ¥ -

(1) =g, AeieEs s TRETE

(2) TR, Sifaw i it

(3) At

(4) =Feqor

How much approxi. percent of available
chlorine does the bleaching powder
contain ?

(1) 10 (2) 20
(3) 33 (4) 50
ST qT8SY §  IUAsd FARI &I
AT fhae wfaerd gar g ?

(1) 10 (2) 20
(3) 33 (4) 50

How much ppm of available chlorine
does the sodium hypochlorite contain ?

(1) 80,000 to 1,80,000 ppm
(2) 10,000 to 25,000 ppm
(3) 30,000 to 55,000 ppm
(4) 60,000 to 80,000 ppm

ITTS FAT FT fFaAT ppm TRIW
ETFARTEE | grar g ?

(1) 80,000 # 1,80,000 ppm
(2) 10,000 & 25,000 ppm
(3) 30,000 % 55,000 ppm
(4) 60,000 & 80,000 ppm

Formaldehyde is more commonly
known as

(1) Ssavlon (2) Dettol

(3) Formalin (4) Alcohol

TR AHFT &7 § R am &
THEE ?

(1) ===t
(3) wrEefT

(2) T
(4) TR



16.

17.

18.

Dental caries can be occurred more
frequently if the excessive intake of one
of the following is there

(1) sugar and refined carbohydrates
(2) fruits and vegetables

(3) water

(4) home-made food

3T 47 AfgF a1 Bl gFar 7, e e
¥ HUF F AAGF A9 graT g o
(1) =t s afrega #reterzge

(2) et 3T Tfessrat

(3) ol

(4) =T =™

The conditions resulting from infection
of the eye are

(1) eye strain and cataract

(2) conjunctivitis and trachoma

(3) cataract and trachoma

(4) glaucoma and trachoma

Ag F HHAU H A ATt wffRetaat
g

(1) = q@ma iz Aifqares

(2) FrorEFETEEH ST g

(3) wifaarfa= sz ZhmT

(4) @M ST THED

The amino acids which cannot be
synthesized in the body are called as

(1) essential amino acids

(2) non-essential amino acids

(3) complete proteins

(4) protein quality

i ufie S ot § weafuq T8t
T ST FFaT 3 FRd B

(1) smaems ufar ufEe

(2) e UfaAT Ui

(3) st s

(4) v F rEr

19.

20.

21.

22.

From the following, this is a water
soluble vitamin

(1) vitamin A

(2) Vitamin B complex

(3) VvitaminE

(4) vitamin D

foafafee & & ®= &1 ot &
e feerta g 2

(1) F=HTA

(2) faerta= B FivueEy

(3) s

(4) fEerfmaEr

The daily requirement of sodium
chloride of human should be

(1) 1-10gm (2) 1-06gm

(3) 20-30gm (4) 30-50gm
A At IAE AiREw wREE A
AELTFAT EIAT AT

(1) 1-10T. (2) 1-069T.

(3) 20-307m. (4) 30-507m.

The determinants of health include all of
the following, except

(1) aging of the population

(2) health system

(3) equity and social justice

(4) quality of life

e & Huiemar § Fufiea 9@
artaer &, e

(1) smaTardr Mg

(2) waTE=T YOTTAT

(3) wETHaT T "IN =TT

(4) Stra= #r Iorar

A diseased condition can be explained

as

(1) physiological/psychological
dysfunction

Afternoon Shift



23.

24.

25.

(2) a subjective state of person who
feels aware of not being well

(3) social dysfunction

(4) absence of health

UF TPEEd Rafa w1 e oaw o#@

AT AT T § ?

(1) emifE/adasTes giewar

(2) =aftr & srforaew Rafa s s=ar
T EM F AN H TNEE HAEgH
FAT B

(3) wTHTRTE giewAT

(4) waETE AT SOty

The epidemiological triad includes the
factors of,

(1) agentand host

(2) agent and environment

(3) host and environment

(4) agent, host and environment
AT Haeft o &F FLRl § AaTae 8
(1) wTeaw i Fo|TT

(2) wreaw iz gEtE

(3) =TT fT qATEOr

(4) wreaw, FSTEE AT qFTELO

Waste water from a community,
containing solid and liquid excreta,
derived from houses, street and
industries is called

(1) sewage

(2) sewerage system

(3) sewer appurtenances

(4) sullage

L £ o B ) = o O i e B
I & ITH graT g, Fgardr g

(1) #Haw

(2) = yorreft

(3) #Hraw uares™ (appurtenances)
(4) TSt

The medical model of health education

is primarily interested in

(1) translate health information into
the desired health action

Afternoon Shift

26.

27.

28.

(2) recognition and treatment of
disease

(3) combination of all models

(4) activation of group participation

e forer w1 fAfrer Afew geF ®7

Tzad v w@ar g

(1) wmeew @aedfy SWEEr w7 aJited
e HwRATE § T FHEAT |

(2) TRTHA TEEE AT ITAX

(3) =T izt F1 HAH

(4) ¥HE ATRMERET &1 AT FIAT |

From the following, these all can be
included in the health education, except
(1) human biology

(2) nutrition

(3) hysgiene

(4) entertainment

fofofag & ¥ 7g adt e foer §
artaer €, e

(1) wm== StafEse (2) 9o

(3) =rEsh= (4) wAESE
Waste water which does not contain
human excreta, e.g. waste water from
kitchens is called as

(1) sewage

(2) sewerage system

(3) sewer appurtenances

(4) sullage

Fufre S« SEd AWa ot afAe
T F, S THEET T OAUE 99, 39
FET ST ¥

(1) =frersr

(3) #rax wuwewE

(2) st someht
(4) et

The point at which the residual chlorine
appears and when all combined chlorine
have been completely destroyed is
called as

(1) corresponding dosage

(2) breakpoint dosage

(3) breakpoint chlorination

(4) superchlorination

gz fig fw o smfde F=A T
AT g oY S9 gt g Fre &



29.

30.

31.

o g ¥ Ag # four Smar g oW
Fed &

(1) o % g+

(2) sredTERE g

(3) s=FUTEFe FOAAT

(4) FITFARLRLT

The most effective and
method of disinfecting wells is

cheapest

(1) bleaching powder

(2) potassium permanganate

(3) ozonation

(4) ultraviolet irradiation

Fl w1 AEwAT FA ATAT FaH TqTey
de gt fafer g

(1) =efif=T ar8ex

(2) R TEEEE

(3) sArstrerer

(4) wTERTHT &

Measles can be transmitted by the

(1) contact

(2) droplet infection

(3) blood contact

(4) nosocomial infection

e (@aT) 9 TETRG g gdr § ?
(1) = g

(2) fefge msmw

(3) —F#HT=H

(4) Ffreerd gwa

The non-suppurative enlargement and
tenderness of one or both the parotid
glands are known as the disease of

(2) rubella

(3) mumps (4) chicken-pox
UF AT IEE A4S dfEEr fir AE-
U UeATSH Wi Eeed
(FHAAT) F Fgd &

(1) =

(2) ===

(3) =S/

(1) cancer

32.

33.

34.

(4) T (2T =T

For immunization against the
diphtheria, the vaccine of choice is

(1) tuberculine vaccine
(2) DPT vaccine
(3) Hepatitis vaccine

(4) oral drops of polio

fefifer F faeme sfrao 5 oo
FT ATEET 8 2

(1) =rETerrea Ee
(2) S Fr

(3) Zuersfew &

(4) drfer et 3o

In child guidance clinic for
psychotherapy, following methods are
employed, except

(1) play therapy

(2) counselling

(3) reconstruction of parental attitudes
(4) scolding

iR & w9 anede Bt
% fwforfaa fafeet #wra €, fer
(1) = axdfr

(2) =TT

(3) erfsrsra=i % =agE F TAMATT
(4) =te T

For remedial measure and follow up,
special clinics should be conducted
exclusively for school children in the
rural area at the

(1) child guidance clinic

(2) community health centres

(3) primary health centres

(4) dispensaries

SUATICHE IUA T Aqadi Fedars &
oo o et &1 B[oaw w7 &
UTHIT TATRE W AT gl & fou Fw7t
ST BT ST =Ry ?

(1) =T AmTeew s

(2) wTHETRAF T@eT F

(3) wrafa=F T@TET e

(4) FRe=E
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36.

37.

From the following this is the physical
method of the barrier methods for
contraception :

(1) sterilization

(2) foam tablets

(3) condoms

(4) contraceptive pills

faffea & & 7@ miFRTyas ¥ oo
sary fAfeat &1 wifas Jgfa g -

(1) =Heresiaa

(2) wmZawen

(3) =irew

(4) wsifadres mfert

The aim of barrier methods of the
contraception is

(1) tokill sperms
(2) to prevent the formation of sperm

(3) to prevent live sperms from
meeting the ovum

(4) torelease hormone

TARTIT® F Uy Tl 7 I29T §

(1) sppTopest &7 v we & fow

(2) spror AETOT # T F ferm

(3) Sffaq gwwret =1 s & e ¥
TE F o

(4) emEiTE FT F fog

The non-medicated or inert IUDs are
often referred as

(1) first generation IUDs

(2) second generation IUDs

(3) third generation IUDs

(4) fourth generation IUDs

fT-sfweftw o @feFT IUD &1 e
FET ST ¥

(1) w=eetdiEr & 1UD

(2) zEfrfiEr % 1UD

(3) = diEr * IUD

(4) =R 4 % 1UD
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38.

39.

40.

41.

The neonatal tetanus in new born can
be prevented by vaccination of

(1) adults

(2) children

(3) pregnant women
(4) healthy baby

JasTa fogr § FESdm deAd A R
IR GIT TR ST ThaT & 2

(1) === (2) =gt

(3) woadrARRET  (4) T@ET AR
From the following this is the genetic
abnormality found in the neonates :

(1) low birth weight

(2) tetanus

(3) HIVinfection

(4) Phenylketonuria

Fafafaa & & 7g Fawma fager
I ST ATAT ATATNF  FTETHTAT & -
(1) P 9%

(2) E=mm

(3) w=EamE A HFEO

(4) wReREFgRET

The monetary limits of  the
compensation that can be granted by
the District Consumer Court is

(1) upto " 20 lacs

(2) “20lacsto " 40 lacs

(3) “40lacsto " 80 lacs

(4) “80lacsto " 1crore

S SudEaT e T A
HqaTaSt T Aifgw AT 8

(1) ~20«m" q=

(2) 20« &40 @

(3) 40«m= ¥ 80T

(4) ~80@T= | 1FUS

The time limit for registering the event
of birth is

(1) 7days (2) 14 days

(3) 21 days (4) 28days

SPH HT TS (US(RA)  FA AT gHT
#ar g

(1) 7=
(3) 21fe=

(2) 14f=
(4) 28f=



42,

43,

44,

45.

The sub-centre provides interface with

the community at the

(1) grassrootlevel (2) primary level

(3) secondary level (4) tertiary level

ERE-S D I T | ko o o |

T FAT & ?

(1) smam < (2) vrafaE @

(3) fadfi==s =< (4) TefrT= T

The maternal health care of sub-centre

includes

(1) minimum three antenatal check-
ups

(2) every month antenatal check- ups

(3) deliveries at sub- centre

(4) treatment of high risk pregnancies

STHeg T AT TTEA I@ATT H QT

(d

(1) =IAaw a9 UEHea a@erT

(2) e wE UAE T

(3) SwF= T WA

(4) SgfEw Tt THEEAT F ITAR

The best approach to achieve goal of
health for all is by providing

(1) primary health care

(2) secondary health care

(3) tertiary health care

(4) hospice care

aft ¥ U T F oAsw A U A
FT TIH A=FT AR T&E FAT §

(1) i e @

(2) fed=® @meen @A

(3) =T T @A

(4) aForeT T@T

The first level of contact of individuals,
the family and community with the
national health system, where the care
is provided is called as

(1) primary care level

(2) secondary care level

(3) tertiary care level

(4) referral system

T ST YTl % "1 SARAl,
gfaml &fiv "Er ok "9h A AT
WY, Mgt @9t Jae At ST g, 39
_ FRdE

(1) wrfaes IEare F=q2

46.

47.

48.

49.

(2) fafrs g w@<

(3) T @A T

(4) fAfEe sorreh

From the following infections, this is the
important bacterial cause of acute
watery diarrhoea :

(1) E. histolytica

(2) giardia intestine

(3) trichuris

(4) Escherichia coli.

fafafea dwaot & & a8 dF ST
T AT WEgeadqW SFITA FOT 8 -
(1) %. RRearfofemr

(2) forentSam sia

(3) greFriva

(4) AT FeTe

The anopheles lays her eggs in the
quantity of

(1) incluster

(2) 100-250 eggs

(3) 50-100 eggs

(4) singly

UAITRforST fhaet @ & o ot g 2
(1) =woeeH® (2) 100-250 3=
(3) 50-100 3= (4) w=

The Aedes egypti bite at the time of

(1) day (2) night

(3) evening (4) 24 hours
REIE S I E s B e B RO T R
g2

(1) ="
(3) emm T

(2) w=H
(4) 24+

The DMC in RNTCP stands for

(1) Designated Microscopy Centres
(2) Designed Microscopy Centres
(3) Divisional Microscopy Centre

(4) Depositional Microscopy Centre
RNTCP & DMC & TT AT% T & ?
(1) =foeee AT=HERdT dwex

(2) SiTETE ATEAERMT e

(3) FRefowa argwarft wex

(4) fRIIStreme ATZHERT Teex
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50.

51.

52.

53.

54.

Anti-malaria month  campaign is
observed every year in the month of

(1) February (2) March

(3) April (4) June

Tl HAARAT HgHET A=A g2 91
e wée # AAmET Smar g ?

(1) == (2) ==

(3) s (4) =T

Which of the following district of
Haryana is the largest areawise district ?

(1) Ambala (2) Gurugram
(3) Bhiwani (4) Hisar

o & ¥ s a1 Ser gawa &
AT AT & a9 FEToar g 2

(1) starem (2) T
(3) ferart (4) femme

At which place of Kurukshetra there are
sugarcane mills ?

(1) Pehowa (2) Shahbad

(3) Ladwa (4) Baben
FEAT & [hd TE K g A B g
5

(1) v

(3) =r=aT

(2) <rrgaTe
(4) M=

Which one of the following cricketer
does not belongs to the State of
Haryana ?

(1) AjayRatra

(2) Harbhajan Singh

(3) Joginder Sharma

(4) Kapil Dev

o & ¥ w9 a1 Ghrer g ST
qaEl g ?

(1) =TT (2) zTaww Fg
(3) sifirezemt  (4) U= a=
Turban worn by men of Haryana state is
called

(1) Khandwa
(3) Toda

(2) Paggad
(4) Pagadi
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55.

56.

57.

58.

ERATT TS H ROl K OFET TeAl S

FTAT TTET FgaATdl &
(1) =reaT (2) wwrE
(3) drsr (4) sy

“Khule Mein Shauch Se Azadi”, freedom
from open defecation week celebrated
in Haryana from

(1) 9to 15 August, 2017

(2) 6to12 August, 2017

(3) 13to 19 August, 2017

(4) None of these

‘g § o ¥ ANAl, g H HAAN
H TFAEAr THTg gIATIT § O FATIT AT
(1) 9% 15 smred, 2017

(2) 6% 12 3smrEd, 2017

(3) 13 & 19 3, 2017

(4) =THT FrE LS

Anangpur Dam was built in
(1) 9t Century A.D.

(2) 8™ Century A.D.

(3) 11t Century A.D.

(4) None of these

FATYT g FT AT g AT
(1) oY erareay 5. &

(2) 8&f erarsat 5. #

(3) 11T erarest . H

(4) =% & FrE T

Who is Haryana's Minister of State for
Labour and Employment ?

(1) Nayab Singh

(2) Manohar Lal

(3) Mr. Kamboj

(4) Mrs. Kavita Jain

AT F 4w ud A9 TeT O HAY
FA B ?

(1) s e

(2) wTET AT

(3) s Fras

(4) fweft wfear S
Publication of Popular
“Gyanodaya” was started from
(1) Hisar

(2) Rewari

(3) Ambala

(4) Gurugram

Weekly



59.

60.

61.

AR ATETRE  “FEERA” FT TR
AT AT AT
(1) Rem#
(2) Yardr=
(3) sraTeTH
(4) T

The most Eco-Park of

Haryana is

(1) Kalesar Wildlife Sanctuary
(2) Nahar Wildlife Sanctuary
(3) Bhindavas Wildlife Sanctuary
(4) Sultanpur Birds Sanctuary
AT T a9 THE THI-UTH HIA 47
g2

(1) FTorEe Feasita STHaeeg

(2) ATET FFEsha AT

(3) fHUe@E™ a=ISa AT
(4) HEATIE TET AHATCH

important

With the aim to promote Digital
Payment, the Digidhan fair organised in
Gurugram, Haryana on

(1) September 2016

(2) November 2016

(3) December 2016

(4) None of these

RfSea FEam #7 Fg@r 3 F 39T T

W, gamn # O RFem #em e
EIRIECIERINR R

(1) faawe< 2016

(2) =T 2016

(3) femwa¥ 2016

(4) =& =g TE

Dr. Sarup Singh, an academic turned

politician was former (1971-1974) Vice-
chancellor of which university ?

(1) INU

(2) Benaras University
(3) University of Delhi
(4) None of these

62.

63.

64.

foremr & ¥ Toifa ® U =, w=eY
fiz B RaafEemem & @ sugedfa

(1971-1974) I ?

(1) SaTerame dgw faeata=maT
(2) == fAeafa=meT

(3) feeett fAeafa=meT

(4) =# & g 7=l

Which movie of Rajkumar Rao is
nominated for India's official entry to
the Oscar Award 2018 ?

(1) NH-10 (2) City Lights
(3) Newton (4) None

TIFATT @ HT FA A AT A
FaTe 2018 ¥ foruw W & sAfaa i
o gfasfe & afaq #ir 7€ g 2

(1) NH-10 (2) HErare
(3) == (4) #rE et

Find the incorrect pair :

(1) Editorial Cartoonist - Shekhar
Gurera
(2) Television Journalist - Rohit

Sardana
(3) Author - Preeti Singh

(4) Arts & Architecture - Gajendra
Verma

TAT I HIGH I -

(1) wuTedT FEMAE - M@ WO

(2) zifase v - Afgd GwE™T

(3) === - fifa f&g

(4) FAT UA ATEHAT - Toleg ATT

First Prime Minister of Pakistan,

Nawabzada Liaquat Ali Khan, was born

in  which district of Haryana (East

Punjab) ?

(1) Karnal (2) Sirsa

(3) Bhiwani (4) Chandigarh

TfREqT % gl W AT ASTaSITEr

feramra srelt = &1 wew gl (g

9SE) & e e § ogem om ?

(1) =Fzar (2) =
Afternoon Shift




65.

66.

67.

(3) faTr (4) =3rE

Member of the First
Assembly that framed
Constitution, who died in 2009 :

(1) Ranbir Singh Hooda
(2) Nihal Singh Takshak

Constituent
Indian

(3) Ganga Singh Gurjar

(4) Sir Chhotu Ram

TW  "@fEgw qar, SEe oawa &
dfagm T G, & 9gew, 6 99
2009 % 75 :

(1) o fiz g=t

(2) faer= fie Tars

(3) wm fie eiT

(4) ==z T

In Rio Olympic 2016 Sakshi Malik has
clinched the bronze medal in which
category ?

(1) 58kg (2) 48kg

(3) 55kg (4) 65kg

o afefeas 2016 & @Teft wfers
o ooft § Fier g Star ?

(1) 58fuT (2) 48T

(3) 55 fFT (4) 65 fFuT
Which of the following is not belongs to
district Bhiwani of Haryana ?

(1) Prithviraj ki Kutchery

(2) Star Monument

(3) Shrines of Khera Baba

(4) saint Paul's Church

o & & 77 ghamn & e Sor
T et A 2 2

(1) AT i F=

(2) =wE=TEE

(3) =T aTaT F HETY

(4) Hewia ==

Afternoon Shift
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68.

69.

70.

71.

72.

Hisar city of Haryana was founded in
which year ?

(1) 1354 AD (2) 1456 AD
(3) 1556 AD (4) 1656 AD
P ad § ghamm &1 faw aw
eqrfod R ar 2
(1) 1354=. (2)
(3) 1556%. (4)

1456 <.
1656 <.

___was the residence of the famous
'George', the Irish who ruled Haryana in
1798 AD.

(1) GujariMahal  (2) Jahaz Kothi
(3) Sheesh Mahal (4) Lat ki Masjid
gfig st S e gReamm o
1798 . ¥ mEd AT, &1 same o7 -
(1) T e (2) TSt w
(3) sfterwg= (4) e ®ir wafee

Raja Gopal Singh of Jind seized in Karnal
in
(1) 1760 AD (2) 1763 AD
(3) 1773 AD (4) 1783 AD
sfiT & T T g #wwara § e
JT T FATT AT ?
(1) 1760%. (2) 1763%.
(3) 1773%. (4) 1783%.
_____district was formerly known as
Kanaud.
(1) Mahendragarh (2) Karnal
(3) Faridabad (4) Jind

Sem @ § FAlE ' ST
STt AT |

(1) #weEw=e (2) T
(3) wiEmar= (4) iz

Which of the following portal is
launched by Govt. of Haryana to provide
transparency in land deals in March
2017 °?

(1) e-Dhara (2) e-Bhoomi
(3) e-Sarkar (4) e-Custody
AT WF % gWT AT 2017 ¥
5 & ¥ #9 91 9ea g "9k #
TEtdar A= gq SR T T g o?
(1) e-Dhara (2) e-Bhoomi



73.

74,

75.

76.

(3) e-Sarkar (4) e-Custody
Leader of the opposition in the Haryana
State is from which party ?

(1) Indian National Lok Dal

(2) urA

(3) Ncp

(4) BSP

ghomor & fBaer &1 qar G 9t v g 2
(1) s T e

(2) UPA

(3) NcCP

(4) BSP

Which of the following is Haryanvi

language film ?

(1) Pagdi: The Honour

(2) Dear Vs Bear

(3) Dharti

(4) Both Pagdi : The Honour and Dear
Vs Bear

3 #wm " fhew ghamrdy wmor #i

e 8 2

(1) wwrer: fa stee

(2) Rz =ag diax

(3) egxdr

(4) wEr - T s ik Raw aEw
Fe AT

The cost of the lunch and dinner each

under Annapurna Rasoi Yojana of
Haryana Government is

(1) ~20 (2) 25

(3) “10 (4) ~15

g wvE A e @ AT
F AeANd I(gL HIST qIT i AT
TAaF & forw anE g

(1) ~20 (2) 25

(3) 10 (4) ~15

President of India has appointed whom
as India's first full time woman Defence
Minister ?

(1) Nirmala Sitharaman
(2) Najma Heptullah
(3) Smritilrani

(4) Sushma Swaraj
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77.

78.

79.

80.

AT & Teeafd 7 R guw quisTtors
afgar vear w=f ¥ ®=w # fAgwa G
g2

(1) e Harm=

(2) o EgTE

(3) =i ot

(4) o E=TTS

Nicolas Copernicus was
(1) Astronomer (2)
(4) Philosopher

Economist
(3) Sociologist
IBEIERECI AR ET R

(1) =Treresh (2) sreferraft
(3) wETTeTET (4) =rdifR=
Light-year is the unit of

(1) Power (2) Volume
(3) Time (4) Distance
TEHT-a9 fREdr T § 2

(1) erafar (2) srEas

(3) =w= (4) =

Minakshi temple is located in
(1) Ahmedabad

(2) Mumbai

(3) Madurai

(4) Delhi

frameft wfaw w2t R & 2
(1) ergHemETE

(2) =2

(3) mgwrE

(4) fawet

Choose the odd one from the following :

(1) calendar (2) Minute
(3) Hour (4) Second
e & ¥ fauw &1 g0 -

(1) w=mr (2) fae

(3) et (4) sFv=

Afternoon Shift



81.

82.

83.

If we arrange all the words (given in the
option) alphabetically, which word
would be last in the arrangement ?

(1) Shovel (2) Shoes

(3) Shower (4) Shout

afs ga Ao # fRu ww @y ersat v
FUFAAR T@d 8, af 39 &A #§ Aaq
9rex FIF AT AT ?
(1) Shovel

(3) Shower

(2) Shoes
(4) Shout

Find the same relation :

CLOSE : DNRWJ :: OPEN : ?

(1) PRHR (2) PRIQ

(3) RPIB (4) RZWR

T A A9 o0 :

CLOSE : DNRWJ :: OPEN : ?

(1) PRHR (2) PRJQ

(3) RPJB (4) RZWR

If in a coding language, “min fin bin gin”
means “trains are always late”, “gin din
cin hin” means “drivers were always
punished”, “bin cin vin rin” means
“drivers stopped all trains” and “din kin
fin vin” means “all passengers were
late”, answer the following question :
What will be the meaning of "vin" ?

(1) all (2) late

(3) trains (4) drivers

fs U Hiwld® AT H “min fin bin
gin” # FF g ‘“trains are always late”,
“gin din cin hin” &1 =% g “drivers were
always punished”, “bin cin vin rin” &7
2 “drivers stopped all trains” 3T “din kin
fin vin” 1 31¥ ¥ “all passengers were

late”,

et weT &1 3% a1 -
Tvin" FT ST FT g ?

(1) all (2) late
(3) trains (4) drivers

Afternoon Shift
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84.

85.

86.

87.

In the product of 3759 x 9573, the sum
of tens' digit and units' digit is

(1) 9 (2) 16
(3) o (4) 7

3759 x 9573 F TUAEA H FEIE & eI
T THE F SF W AN FAT T ?

(1) 9 (2) 16
(3) o (4) 7

Ifa—b=3and a2 + b2 = 29, find the
value of ab.

(1) 10 (2) 12
(3) 15 (4) 18

gf a—-b=33fva?+b?=29,dr ab &
T 1T F4T |

(1) 10 (2) 12
(3) 15 (4) 18
The value of

(0.96)° —(0.1)3
96 +(.96x0.1)+0.1°

is
(1) 0.86 (2) 0.95
(3) 0.97 (4) 1.06

(0.96)> —(0.1)3
962 +(.96x0.1)+0.1%

H T
(1) o0.86 (2) 0.95
(3) 0.97 (4) 1.06

The average monthly income of P and Q
is * 5,050. The average monthly income
of Q and R is * 6,250 and the average
monthly income of P and R is ~ 5,200.
The monthly income of P is

(1) 3,500 (2) 4,000

(3) 4,050 (4) 5,000

Psfiw Q#T f\a wTfes 9T 5,050 T
| Q3T R # siga AT o )
6,250 & TAT P 3w R &7 sfga ATHEH
AT 5200 7 | P FT AT s fRaeT
£9

(1) 3,500
(3) 4,050

(2) 4,000
(4) 5,000



88.

89.

90.

91.

92.

Which of the following is the least heavy
metal ?

(1) Mercury (2) Silver
(3) 1Iron (4) Gold
o # & ®9 f J99 FH AT 4919 §
?

(1) dmr (2) =t
(3) =m=r (4) |
Leprosy bacillus was invented by
(1) Koch (2) Hansen
(3) Fleming (4) Harvey
et IffeE ft =@ e 2
(1) == (2) &Ta
(3) wfEr (4) =t

Name the unit in which noise of sound is
measured.

(1) Ampere (2) Hertz

(3) Cycles (4) Decibel

Fa e ¥ @ &1 ar 9T ST
g2

(1) wferr
(3) =Tl

(2) &=t
(4) ==

Choose one option that expresses the
meaning of the sentence :

A person who does not believe in the
existence of god.

(1) Theist
(3) Ascetic

(2) Atheist
(4) Agnostic

Choose one option that expresses the
most appropriate meaning for the idiom
out of four options :

To take a thing lying down

(1) tobeg

(2) to submit without resistance
(3) todisregard

(4) to avoid
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93.

94.

95.

96.

97.

98.

99.

Choose the most appropriate
preposition out of four options :

Reena was invited his friends

dinner.
(1) for (2) to
(3) with (4) over

For blank space, choose the proper

article :

| waited for hour.
(1) a (2) an
(3) noarticle (4) the

Choose the pair of words that best
expresses a relationship similar to that
expressed in the pair of words in capital.
AIRPLANE : HANGER

(1) automobile : garage
(2) ship: seaport
(3) train: station

(4) bus : bus stop

Frer # & g arex B -
(1) =& (2) framr

(3) =™ (4) =

TIIAT - FIA KT TGHEAT {q4=TIF g -
(1) faseh -3
(2) - fasreht
(3) e — e
(4) ot — aTEe

Frer & & P orsx A1 adet w3 2

(1) smefi (2) =fE=
(3) f&w (4) =frea

‘fasTefy’ 1 THETAT oex TE B -

Afternoon Shift



(1) === (2) Tvh
(3) = (4) =y

100. 7 & & F9 A7 fFew 7w @ 7 2
(1) T -t
(2) Ffew — =Hrew

(3) e —aer=
(4) =R -7

Afternoon Shift
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